# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 02x08= 2) 01x05=

4) 04x05= 5 0.6x0.8=

7) 05x06= 8 09x0.3=

10) 0.2x0.1= 11) 05%x05=

13) 0.1x0.7= 14) 0.2x04=

3) 0.3x08=

6) 0.9x0.5=

9 05x04=

12) 0.8x09=

15) 0.9x09=

10.

11.

12.

13.

14.

15.

Answers
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Multiplying Decimals (Visually) Name: Answer Key
Use the visual modél to solve each problem. Answers
1) 02x08= 2) 01x05= 3) 0.3x0.8= 16
) ) ) Y =016
1. 100
5
2. 100 = 0.05
24
3. /. 100 = 0.24
20
4, 100 = 0.2
4) 04x05= 5 0.6x08= 6) 09x05= 48 _
5. 100 = 048
5,
6. 100 = 045
30
7. 100 = 0.3
21,
8. 100 = 0.27
7) 05x0.6= 8) 09x03= 9) 05x04= 20 -02
9. 100 — ¥
2 —
10. 100 — 0.02
25
11. /. 100 = 0.25
72
12. % 100 = 0.72
10) 0.2x0.1= 11) 05x0.5= 12) 0.8x0.9= y
13. 100 — 0.07
8
14. 100 = 0.08
81
15, /. 100 = 0.81
13) 0.1x0.7= 14) 0.2x0.4= 15) 0.9x0.9=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 04x09= 2) 04x03=

4) 08x02= 5 0.1x0.6=

7) 01x0.1= 8 0.1x0.7=

10) 0.1x0.3= 11) 0.1x0.9=

13) 05x0.1= 14) 09x05=

3) 0.7x0.1=

6) 0.3x0.3=

9 02x0.6=

12) 06x0.2=

15) 0.1x05=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Usethevisual model to solve each problem. Answers
1) 04x09= 2) 04x03= 3 0.7x0.1= L = 100=0.36
, /=012
. /0o =007
4. 16/100 =0.16
4) 08x02= 5) 0.1x0.6= 6) 03x03= ] y 0= 0.06
9
6 100 = 0.09
7o =001
. /0o =007
7) 01x01= 8 01x07= 9 02x06= o /=012
o /10=003
11, 7 100 = 0.09
12. 12/100 =012
10) 01%03= 11) 01x09= 12) 06x02= w 10p=005
14, 45/100 =045
o 710p=005
13) 05x0.1= 14) 09x05= 15) 01x05=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 09x05= 2) 06x02=

4) 07x02= 5 0.2x0.6=

7) 05x0.8= 8 09x0.3=

10) 04x05= 11) 02x0.1=

13) 08x04= 14) 0.7x09=

3) 0.2x09=

6) 04x0.8=

9 08x05=

12) 05x02=

15) 0.7x0.1=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Usethevisual model to solve each problem. Answers
1) 09x05= 2) 06x0.2= 3) 02x09= L 4950:045
, /=012

. /=018

4. g 100 = 0.14

4) 07x02= 5) 02x06= 6) 04x08= . /=012

32
6. /100 = 0.32

40
7. 100 =04
27 _
8 100 = 0.27
7) 05x08= 8) 09x03= 9) 08x05= 40, 04
9 100 — Y-
20
10, 100 = 0.2
2 —
1. 100 = 0.02
10
12, 100=0.1
10) 0.4%05= 11) 02x0.1= 12) 05%x02= 2,
13. /100 - 032

63
14, /. 100 = 0.63

15, / 100 = 0.07
13) 0.8x04= 14) 0.7x09= 15) 0.7x0.1=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 02x08= 2) 04x03=

4) 01x09= 5 05x04=

7) 01x07= 8 0.7x0.6=

10) 03x09= 11) 03x02=

13) 0.8x09= 14) 06x06=

3) 0.7x04=

6) 04x0.8=

9 03x0.1=

12) 0.3x0.7=

15) 0.7x0.3=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Usethevisual model to solve each problem. Answers
1) 02x08= 2) 04x03= 3) 07x04= . 1?502016
, /=012

. /=028

4 7 100 = 0.09

4 01x09= 5) 05x04= 6) 04x08= . V=02

7) 01x07= 8 0.7x0.6= 9 03x0.1= 3/
100

27
10. / 100 = 0.27

6
11. /. 100 = 0.06
21,
12 100 = 0.21
10) 0.3x09= 11) 03x02= 12) 0.3x0.7= 2,
13. /100 - 072

36
14, /. 100 = 0.36

21
15. / 100 = 0.21

13) 0.8x09= 14) 0.6x06= 15) 0.7x03=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 06x09= 2) 06x03=

4) 01x07= 5 05x0.2=

7) 01x04= 8 06x04=

10) 0.8x0.8= 11) 0.7x0.2=

13) 0.2x09= 14) 06x06=

3) 05x09=

6) 0.1x05=

9 04x04=

12) 09x04=

15) 05x04=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Use the visual modél to solve each problem. Answers
1) 06x09= 2) 06x0.3= 3) 05x09= 54
) ) ) L /=054
18
2. 100 = 0.18
45
3. 100 = 045
7/ _
4. 100 — 0.07
4) 01%x07= 5) 05%x02= 6) 0.1x05= 10, _ 0.1
5. 100 — VY-
5/ _
6. 100 ~ 0.05
4
, /10p=004
24,
8, 100 = 0.24
7) 01x04= 8) 06x04= 9 04x04= 16
) ) ) 9. /100= 016
64
10. 100 = 0.64
14
11. /. 100 = 0.14
36
12. 100 = 0.36
10) 0.8x0.8= 11) 0.7x0.2= 12) 09x04= 18 _
13. /. 100 = 0.18
36
14, /. 100 = 0.36
20
15. 100 = 0.2
13) 0.2x0.9= 14) 0.6x0.6= 15) 0.5x0.4=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 05x06= 2) 09x06=

4) 0.1x03= 5 0.7x0.3=

7) 06x09= 8 09x0.3=

10) 0.4x0.6= 11) 05x0.3=

13) 05x04= 14) 03x0.1=

3) 01x0.7=

6) 0.1x0.2=

9 05x0.2=

12) 0.3x03=

15) 04x0.1=

10.

11.

12.

13.

14.

15.

Answers

[ M ath ] www.CommonCoreSheets.com

1-10
11-15

93

87

80

73

67

60 | 53|47 |40]33]

27

20

13




# Multiplying Decimals (Visually) Name: Answer Key

Use the visual modél to solve each problem. Answers
1) 05x%x0.6= 2) 09x0.6= 3) 01x0.7= 30/ =03
1. 100 — Y-
54
. /=054
.
3, 100 = 0.07
3
4, 100 = 0.03
4) 01x03= 5 07x03= 6) 0.1x02= 21,
5. /. 100 = 0.21
2 —
6. 100 — 0.02
54
. /100 = 0.54
27
o /100 =0.27
7) 0.6x0.9= 8) 09x03= 9) 05x02= 10 -01
9. 100 — ¥
24
10. /. 100 = 0.24
15
11. 100 = 0.15
9
1. 100 = 0.09
10) 04x0.6= 11) 05x0.3= 12) 0.3x0.3= 20 —0.2
13. 100 — Y-
3
14. 100 = 0.03
4 —
15. 100 — 0.04
13) 05%x04= 14) 0.3x0.1= 15) 04x0.1=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 05x0.7= 2) 0.7x05=

4) 07x09= 5 01x07=

7) 07x02= 8) 0.8x0.7=

10) 0.8x0.8= 11) 03x05=

13) 0.2x02= 14) 01x06=

3) 01x04=

6) 0.9x0.8=

9 08x0.2=

12) 06x0.6=

15) 0.6x0.8=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Use the visual model to solve each problem. Answers
1) 05x0.7= 2) 0.7x05= 3 01x04= L = 100=0.35
2 35/100 =035
. /10y =004
. /=063
4) 07x09= 5 01x07= 6) 0.9x0.8= 3 7/100 ~ 007
. 70o=072
14
7. 100 = 0.14
8. 7 100 = 0.56
7) 0.7x02= 8 0.8x0.7= 9) 08x02= . Y 100 =0.16
10. g 100 = 0.64
11. E 100 = 0.15
12 36/100 =0.36
10) 08x0.8= 11) 03x05= 12) 06x06= " 4 0= 0.04
14. 6/100 = 0.06
15. 48/100 =048
13) 02x0.2= 14) 0.1x0.6= 15) 0.6x0.8=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 09x06= 2) 03x02=

4) 06x05= 5 0.3x0.6=

7) 09x03= 8 0.7x0.1=

10) 03x0.3= 11) 0.8x0.6=

13) 09x02= 14) 0.8x04=

3) 06x0.2=

6) 0.8x0.3=

9 08x0.7=

12) 0.1x0.1=

15) 0.2x04=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Usethevisual model to solve each problem. Answers
1) 09%06= 2) 03x0.2= 3 06x02= . 54/100 — 0.54
, /10=0.06

. /=012

4 30/100 =03

4) 06x05= 5) 0.3x06= 6) 08x03= . /1=018

.
8. /. 100 = 0.07
7) 09x03= 8) 0.7x0.1= 9) 08x07= 56,
N /100 = 0.56
9
10, /. 100 = 0.09

48
11. / 100 = 0.48

12.

10) 0.3x0.3= 11) 0.8x0.6= 12) 01x01= 18/
13. 10

32
14, /. 100 = 0.32

15.

13) 09x02= 14) 0.8x04= 15) 0.2x04=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 01x07= 2) 08x05=

4) 08x0.1= 5 03x0.2=

7) 08x09= 8 09x0.1=

10) 05x0.2= 11) 0.4x0.9=

13) 09x04= 14) 0.8x03=

3) 06x0.2=

6) 0.9x0.7=

9 01x03=

12) 08x0.7=

15) 0.3x05=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Usethevisual model to solve each problem. Answers
1) 01x0.7= 2) 08x05= 3) 06x02= ) 71mf:0D7
. V=04

s /=012

4. / 100 = 0.08

4) 08x0.1= 5 03x02= 6) 09x0.7= . 9&m::Q06
6. 6?7100 =0.63

. 7o=072

. 710=0.09

7) 08x09= 8 09x0.1= 9 01x03= o 9&m:(103
10, 7 100 = 0.1

11, 36/100 =0.36

12. 56/100 = 0.56

10) 05x02= 11) 04x09= 12) 08x07= o Ji0o=036

24

14, 100 = 0.24

15
15. / 100 = 0.15

13) 09x04= 14) 0.8x03= 15) 0.3x05=
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# Multiplying Decimals (Visually)

Name:

Usethevisual model to solve each problem.

1) 08x09= 2) 04x08=

4) 03x07= 5 09x0.8=

7) 08x0.3= 8 02x0.9=

10) 0.7x0.1= 11) 03x02=

13) 0.1x0.1= 14) 09x05=

3) 01x04=

6) 0.1x0.2=

9 06x09=

12) 0.7x0.7=

15) 0.2x04=

10.

11.

12.

13.

14.

15.

Answers
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# Multiplying Decimals (Visually) Name: Answer Key

Use the visual modél to solve each problem. Answers
1) 08x09= 2) 04x0.8= 3 01x04= ) 72/10O —0.72
2 32/100 =032
3. 4/100 =004
a g 100 = 0-21
4) 03x0.7= 5) 09x08= 6) 0.1x02= ) 72/100 072
6. 2/100 = 0.02
. Vio=024
. /=018
7) 08x03= 8) 02x09= 9) 06x09= . 541/100 - 054
7
10, 100 = 0.07
11, / 100 = 0-06
12 49/100 =049
10) 0.7x0.1= 11) 03x0.2= 12) 0.7x0.7= " 1/100 - 0.01
14, 45/100 =045
8
15, /. 100 = 0.08
13) 0.1x0.1= 14) 09x05= 15) 0.2x04=
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